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APPROACHCOMBINES

e Search and matching model
e Evidence from Klinger and Rothe (2012)
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CoBB-DOUGLAS MATCHING FUNCTION

m = wuavlfa
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KLINGER AND ROTHE (2012)

ESTIMATE

log(my) = ¢ + 6" - Hartzlll;
+ astock Iog (utsiolck> + 5stock Iog (Vtsiolck)

+ aﬂow Iog (UtﬂOW> + ﬁﬂow Iog (thlow> + ..

RESULT
Estimate of §'" is 0.035



USING KLINGER AND ROTHE'S (2012) ESTIMATE

TAKEN AT FACE VALUE
3.5% improvement in matching productivity due to Hartz 11|

DIFFICULTY
Estimated matching function differs from that in structural model

CURRENT APPROACH

e Yields 16% improvement in matching productivity
e Not valid as currently implemented
e Possible solution we discussed: indirect inference
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MODEL OF LAUNOV & WALDE CAN GO FURTHER

e Consider non-uniform matching productivity improvement
e Evaluate Hartz IV in same model



